EARAROBEEIERT — 2 N— IBISH —F

201957H158 (B) 8E1AE2H

m 2K—2# YIR2K ‘ (%E] W ‘ (mEsm] — | 4 (A) 13000 B
[A&E4£] 1% :360,000 ™ ~ 23#&:108,000  ~ 33#&:36,000H ~ 43#&:22,0008™ . 53&:14,000 @
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
NN BEmth :25. -4-4- . — IHAZEA (1£8)
1 0| k=t s -1 o2 ue 1(2_5)5 4-4-4-1 | 39.7 1 (4_5;1) it "
R:bh—t>rya—4> B:T77XAMHT— BR&H IXF477—AL4
= A7 i 2 | RBER® 1:26.6 6-5-3-2 | 40.7| — 2 435 | MEHBEF (1EH)
oY 3|7V 54.0 ®) 43 |EAET
Z:Z2hAYTUE—> B:bhoEO-—HTz Tr7—3I ¥ %4
R BER—mB : 00— — JN\EZF (&EH)
3 6lEY Ky —> 2 5154_0 (2%{9;’9) 2-2-2-3 | 43.7 9 (4_190) e "
RZAZHNT1Zv X B:¥x—T4y N)TIL EXKT77—L4L
i = o2 | TTER 1:29.4 7-9-8-6 |42.5| — 5 436 | mEXE (EH)
algl 7| I—F—H LS 55.0 @ (3) | TIERERR
R4/ d—d— BiAEXHUZR Zb—LTy—LaA—RL— 3>
S . 4 2 | HAKEA 1:29.9 1-1-1-4 | 44.6| — 7 386 | AENE (1ER)
5/5|5 Hho/TXx ¥¢53.0 (2 1/2) (-6) |1AAE
L:ZMTTa X%~ Bz hUvk RS
S A 4 2 | WTHRE 1:29.9 9-8-5-5 |43.5| — 4 440 | MEEBEF (1EH)
6l8lg|VVUAET 55.0 (7 4%) (-10) | B) Fils
L=/ ¥LLY b BXRAUSTIL—T HFASZEy K
= =5 i o2 | AR 1:32.0 5-6-9-8 |45.8| — 6 438 | AIEX (ERB)
] 41770807 54.0 (21 %) (122) | BERE -
LA FA N BHxRIHY ®mE Ex
S, _ # 2 | RER= 1:32.3 8-7-6-7 |46.0 | — 3 431 | NNEEF (£8)
81111 —7L5)\y) ~ 55.0 (a 1/2) (+6) /NHRTE T
R:ZLYYT RV BiYHTIE I NF EH B
5 . s 2 | lISHA 1:33.5 3-3-7-9 |47.6| — 8 398 | dtAdfite (1£%)
9lglo|ZHZF > 54.0 ®) (45) | TIEERR -
R:ECTFAYY BUVTRE-— KEKE
® I—F—@EBIERL
13—7F— 5,6,9,2,4,3,7,1,8
Ao=5"= 5,6,9,2,3,4,1,8,7
T =35r= 5,6,3,2,8,1,9,7,4
41—F— 2,3,6,5,8,7,1,4,9
[ N5
B 2 160/ 794K 2-3 120M & 2-3 120M &R 2-3-6 870/
# B 2 110M 2-6 680 B E 2-3 130M EE 2-3-6 2,180
3 110 3-6 470M B H 2-3 230
6 3009

ABICOVWTRDTEEERROODE. TR LIV,




